JOURNAL OF APPLIED ANALYSIS Vol. 12, No. 2 (2006), pp. 259–265

NOTES ON UNIQUENESS OF MEROMORPHIC FUNCTIONS

W. LÜ and J. CAO

Received January 3, 2005 and, in revised form, January 28, 2006

Abstract. In this paper, we study the problem of uniqueness on meromorphic functions involving in differential polynomials and obtain some results which extend and improve the theorems of M. Fang and W. Hong et al.

1. Introduction and main results

In this paper, a meromorphic function means meromorphic in the open complex plane. We use the usual notations of Nevanlinna theory of meromorphic functions as defined in [3], [6]. By E we denote a set of finite linear measure, not necessary the same at each occurrence. For a nonconstant meromorphic function f and a complex number a, and by E(a, f), $E_{k}(a, f)$ we denote the set of zeros of f - a (counting multiplicity), and the set of zeros of f - a with multiplicity $\leq k$ (counting multiplicity); $N_{1}(r, 1/(f - a))$ stands for the counting function of simple a-points of fand $\overline{N}_{(k}(r, 1/(f - a)))$ stands for the counting function of a-points of fwith multiplicity $\geq k$, where k is a positive integer and each a-points is

ISSN 1425-6908 (c) Heldermann Verlag.

²⁰⁰⁰ Mathematics Subject Classification. Primary 30D35.

Key words and phrases. Meromorphic function, sharing value, uniqueness. Project supported by NSFC.

counted only once. In addition, S(r, f) stands for any quantity satisfying $S(r, f) = o(T(r, f)) \ (r \to \infty, r \notin E)$ (see [6]). Let

$$N_2\left(r,\frac{1}{f-a}\right) = \overline{N}\left(r,\frac{1}{f-a}\right) + \overline{N}_{(2}\left(r,\frac{1}{f-a}\right).$$

W. Hayman in [2] obtained the following result.

Theorem A. Let f be an entire function, $n \ge 1$ be a positive integer. If $f^n f' \ne 1$, then f is a constant.

Recently, corresponding to Theorem A, M. Fang and W. Hong in [1] proved the following two theorems.

Theorem B. Let f be an entire function, $n \ge 2$ be a positive integer. If $f^n(f-1)f' \ne 1$, then f is a constant.

Theorem C. Let f and g be transcendental entire functions, $n \ge 11$ be a positive integer. If $E(1, f^n(f-1)f') = E(1, g^n(g-1)g')$, then $f \equiv g$.

Motivated by Theorem C, we obtain the more general results which improve Theorem C.

Theorem 1.1. Let f and g be distinct nonconstant meromorphic functions, $n \ge 10$ be a positive integer. If $E(\infty, f) = E(\infty, g)$ and $E_{3}(1, f^n(f-1)f') = E_{3}(1, g^n(g-1)g')$, then

$$f = \frac{(n+2)(1+h+\ldots+h^n)h}{(n+1)(1+h+\ldots+h^{n+1})},$$

$$g = \frac{(n+2)(1+h+\ldots+h^n)}{(n+1)(1+h+\ldots+h^{n+1})},$$
(1.1)

where h is a nonconstant meromorphic function.

Corollary. Let f and g be nonconstant entire functions, $n \ge 7$ be a positive integer. If $E_{3}(1, f^n(f-1)f') = E_{3}(1, g^n(g-1)g')$, then $f \equiv g$.

Clearly, Corollary is an improvement of Theorem C.

260

2. Some lemmas

Let us introduce some lemmas which will be used to prove Theorem 1.1.

Lemma 2.1 ([5]). Let f be a meromorphic function and $p = a_0 f^n + a_0 f^n$ $a_1 f^{n-1} + \ldots + a_n$, where $a_0 \neq 0$, a_1, \ldots, a_n are small functions related to f, that is $T(r, a_j) = S(r, f), j = 0, 1, ..., n$. Then T(r,p) = nT(r,f) + S(r,f).

Lemma 2.2. Let F, G be two meromorphic functions such that $E(\infty, F) =$ $E(\infty,G)$ and $E_{3}(1,F) = E_{3}(1,G)$, then one of the following cases must

occur:
(i)
$$\frac{1}{2}T(r,F) + \frac{1}{2}T(r,G) \le N_2\left(r,\frac{1}{F}\right) + N_2\left(r,\frac{1}{G}\right) + 2\overline{N}(r,F)$$

 $+ S(r,F) + S(r,G);$
(ii) $F \cdot G \equiv 1;$
(iii) $F \equiv G.$

Proof. Let

(

$$H = \left(\frac{F''}{F'} - \frac{2F'}{F-1}\right) - \left(\frac{G''}{G'} - \frac{2G'}{G-1}\right).$$
 (2.1)

If $H \neq 0$, since $E_{3}(1,F) = E_{3}(1,G)$, then $E_{1}(1,F) = E_{1}(1,G)$, a simple computation on local expansion shows that $H(z_0) = 0$ if z_0 is a simple zero of F - 1 and G - 1. Hence, we get

$$N_{1}\left(r,\frac{1}{F-1}\right) \le N\left(r,\frac{1}{H}\right).$$
(2.2)

By the first fundamental theorem, we have

$$N\left(r,\frac{1}{H}\right) \le T(r,H) + O(1).$$
(2.3)

From (2.1), we get m(r, H) = S(r, F) + S(r, G), thus by (2.2) and (2.3), we get

$$N_{1}\left(r,\frac{1}{F-1}\right) \le N(r,H) + S(r,F) + S(r,G).$$
(2.4)

Noticing that $E(\infty, F) = E(\infty, G)$, we say that any pole of F, G cannot be a pole of H. In addition, since $E_{3}(1,F) = E_{3}(1,G)$, we can also easily see from (2.1) that any k-fold ($k \leq 3$) zero-point of F-1 and G-1 is not a pole of H. Hence

$$N_{1}\left(r,\frac{1}{F-1}\right) \leq \overline{N}_{\left(4}\left(r,\frac{1}{F-1}\right) + \overline{N}_{\left(2}\left(r,\frac{1}{F}\right) + \overline{N}_{\left(2}\left(r,\frac{1}{G}\right)\right)\right)$$

W. LÜ AND J. CAO

$$+\overline{N}_{\left(4\left(r,\frac{1}{G-1}\right)+N_{0}\left(r,\frac{1}{F'}\right)+N_{0}\left(r,\frac{1}{G'}\right)+S(r,F)+S(r,G),\quad(2.5)$$

where $N_0(r, 1/F')$ is the counting function corresponding to the zeros of F' which are not zeros of F(F-1), and $N_0(r, 1/G')$ is the counting function corresponding to the zeros of G' which are not zeros of G(G-1).

Noticing

$$\overline{N}\left(r,\frac{1}{F-1}\right) - \frac{1}{2}N_{11}\left(r,\frac{1}{F-1}\right) + \overline{N}_{4}\left(r,\frac{1}{F-1}\right)$$

$$\leq \frac{1}{2}N\left(r,\frac{1}{F-1}\right),$$
(2.6)

and

$$\overline{N}\left(r,\frac{1}{G-1}\right) - \frac{1}{2}N_{1}\left(r,\frac{1}{G-1}\right) + \overline{N}_{4}\left(r,\frac{1}{G-1}\right)$$

$$\leq \frac{1}{2}N\left(r,\frac{1}{G-1}\right).$$
(2.7)

Combining (2.5), (2.6), (2.7) with the second fundamental theorem, we can prove Lemma 2.2 by imitating the proof as did in [4], [7]. So we omit the details here.

Lemma 2.3. Let f_1 , f_2 be nonconstant meromorphic functions and c_1 , c_2 , c_3 be nonzero constants. If $c_1f_1 + c_2f_2 \equiv c_3$, then

$$T(r, f_1) < \overline{N}\left(r, \frac{1}{f_1}\right) + \overline{N}\left(r, \frac{1}{f_2}\right) + \overline{N}(r, f_1) + S(r, f_1).$$

Proof. By the second fundamental theorem, we have

$$T(r,f_1) < \overline{N}\left(r,\frac{1}{f_1}\right) + \overline{N}\left(r,\frac{1}{f_1 - \frac{c_3}{c_1}}\right) + \overline{N}(r,f_1) + S(r,f_1).$$
(2.8)

Noticing that

$$\overline{N}\left(r,\frac{1}{f_1-\frac{c_3}{c_1}}\right) = \overline{N}\left(r,\frac{1}{f_2}\right).$$
(2.9)

Thus Lemma 2.3 follows from (2.8) and (2.9).

Lemma 2.4 ([6]). Let f be a meromorphic function, then

$$N\left(r,\frac{1}{f'}\right) \le N\left(r,\frac{1}{f}\right) + \overline{N}(r,f) + S(r,f).$$

262

3. Proof of Theorem 1.1 and Corollary

3.1. Proof of Theorem 1.1. In order to prove Theorem 1.1, we set

$$F = f^{n}(f-1)f', \quad G = g^{n}(g-1)g', \tag{3.1}$$

and

$$F_1 = \frac{1}{n+2}f^{n+2} - \frac{1}{n+1}f^{n+1}, \quad G_1 = \frac{1}{n+2}g^{n+2} - \frac{1}{n+1}g^{n+1}.$$
 (3.2)

Thus, $E(\infty, F) = E(\infty, G)$ and $E_{3}(1, F) = E_{3}(1, G)$. So, by Lemma 2.2, we consider the following three cases.

Case 1. Suppose that F and G satisfy (i) in Lemma 2.2:

$$\frac{1}{2}T(r,F) + \frac{1}{2}T(r,G) \leq N_2\left(r,\frac{1}{F}\right) + N_2\left(r,\frac{1}{G}\right) + 2\overline{N}(r,F) + S(r,F) + S(r,G).$$

$$(3.3)$$

From (3.1), we get

$$N_{2}\left(r,\frac{1}{F}\right) + N_{2}\left(r,\frac{1}{G}\right) \leq 2N\left(r,\frac{1}{f}\right) + N\left(r,\frac{1}{f-1}\right) + N\left(r,\frac{1}{f'}\right) + 2N\left(r,\frac{1}{g}\right) + N\left(r,\frac{1}{g-1}\right) + N\left(r,\frac{1}{g'}\right).$$

$$(3.4)$$

By Lemma 2.1, the first main theorem and (3.2), we have

$$T(r, F_1) = (n+2)T(r, f) + S(r, f)$$

$$\leq T(r, F) + N\left(r, \frac{1}{F_1}\right) - N\left(r, \frac{1}{F}\right) + S(r, f)$$

$$\leq T(r, F) + N\left(r, \frac{1}{f}\right) + N\left(r, \frac{1}{f - \frac{n+2}{n+1}}\right) - N\left(r, \frac{1}{f - 1}\right)$$

$$- N\left(r, \frac{1}{f'}\right) + S(r, f),$$

combining with (3.3), (3.4), it will yield

$$(n+2)T(r,f) \le 3N\left(r,\frac{1}{f}\right) + N\left(r,\frac{1}{f-\frac{n+2}{n+1}}\right) + 2\overline{N}(r,f) + 2N\left(r,\frac{1}{g}\right) + N\left(r,\frac{1}{g-1}\right) + N\left(r,\frac{1}{g'}\right) + S(r,f) + S(r,g).$$
(3.5)

It follows from $E(\infty, f) = E(\infty, g)$, (3.5) and Lemma 2.4 that

$$(n-2)T(r,f) \le 7T(r,g) + S(r,f) + S(r,g).$$
(3.6)

Similarly, we have

$$(n-2)T(r,g) \le 7T(r,f) + S(r,f) + S(r,g).$$
(3.7)

By (3.6) and (3.7), we find $(n-9)T(r, f) + (n-9)T(r, g) \le S(r, f) + S(r, g)$, which contradicts $n \ge 10$.

Case 2. Suppose that F and G satisfy (ii) in Lemma 2.2: $f^n(f-1)f'g^n(g-1)g' \equiv 1$. From $f^n(f-1)f'g^n(g-1)g' \equiv 1$ and $E(\infty, f) = E(\infty, g)$, it follows that f and g are entire functions. By the Picard theorem, we deduce f may possess two values in C: either 0 or 1. Contradiction.

Case 3. Suppose that F and G satisfy (iii) in Lemma 2.2: $F \equiv G$, which implies that $F_1 \equiv G_1 + c$, where c is a constant.

First, by Lemma 2.1, we obtain

$$T(r, f) = T(r, g) + S(r, f) + S(r, g).$$
(3.8)

We claim that c = 0. Otherwise, if $c \neq 0$, Lemma 2.3, (3.2) and (3.8) will have

$$T(r, F_1) = (n+2)T(r, f) + S(r, f)$$

$$\leq \overline{N}(r, \frac{1}{F_1}) + \overline{N}(r, \frac{1}{G_1}) + \overline{N}(r, f) + S(r, f)$$

$$\leq 5T(r, f) + S(r, f),$$

which also contradicts $n \ge 10$, and hence c = 0, $F_1 \equiv G_1$. Let f = hg, which leads from $f \neq g$ that

$$f = \frac{(n+2)(1+h+\ldots+h^n)h}{(n+1)(1+h+\ldots+h^{n+1})}, \quad g = \frac{(n+2)(1+h+\ldots+h^n)}{(n+1)(1+h+\ldots+h^{n+1})},$$

where $n(\geq 10)$ is a positive integer, and h is a meromorphic function. This proves Theorem 1.1.

3.2. Proof of Corollary. First, for entire functions f and g, from (3.5) we obtain (3.6) and (3.7) with "7" replaced by "4". That is, we can get

$$(n-2)T(r,f) \le 4T(r,g) + S(r,f) + S(r,g).$$
(3.6)'

and

$$(n-2)T(r,g) \le 4T(r,f) + S(r,f) + S(r,g). \tag{3.7}'$$

Thus $n \ge 7$ and either (1.1) is true or $f \equiv g$. But (1.1) is not fulfilled since $h \ne \text{const}$ is entire and

$$g = \frac{n+2}{n+1} \cdot \frac{1-h^{n+1}}{1-h^{n+2}}$$

has poles (by the Picard theorem).

Therefore $f \equiv g$, which completes the proof of Corollary.

264

Acknowledgements. The authors thank the referee for his (or her) ardent help and valuable direction. The second author is extremely grateful for Dr. Robert Gardner and Dr. Hong Don who are professors in East Tennessee State University when he studied in East Tennessee State University.

References

- Fang, M. L., Hong, W., A unicity theorem for entire functions concerning differential polynomials, Indian J. Pure Appl. Math. 32 (2001), 1343–1348.
- [2] Hayman, W. K., Picard values of meromorphic functions and their derivatives, Ann. of Math. (2) 70 (1959), 9–42.
- [3] Hayman, W. K., Meromorphic Functions, Clarendon, Oxford, 1964.
- [4] Lü, W. R., Wang, J., Meromorphic functions sharing two values, Northeast. Math. J. 20 (2004), 63–67.
- [5] Yang, C. C., On deficiencies of differential polynomials. II, Math. Z. 125 (1972), 107–112.
- [6] Yi, H. X., Yang, C. C., Uniqueness Theory of Meromorphic Functions, Science Press, Beijing, 1995.
- [7] Yi, H. X., Meromorphic functions that share one or two values, Complex Var. Theory Appl. 28 (1995), 1–11.

WEIRAN LÜ JIANSHENG CAO APPLIED DEPARTMENT OF MATHEMATICS DEPARTMENT OF MATHEMATICS UNIVERSITY OF PETROLEUM EAST TENNESSEE STATE UNIVERSITY DONGYING 257061 JOHNSON CITY, TN 37614 P. R. CHINA USA E-MAIL: CAOJIANSHENG@YAHOO.COM